1997. 05. 09. C csoport





1. feladat


tanuld 1997_05_09_1 :a


 repeat 4 [repeat 90 [fd :a rt 1] ~


 lt 90 repeat 90 [fd :a rt 1] ~


 pu repeat 180 [fd :a rt 1] ~


 pd repeat 90 [fd :a rt 1] rt 90]


vége





1999. 05. 07. C csoport





1.c feladat


tanuld 1999_05_07_1c :db :a


 ha :db > 0 [lt 90 fd :a / 2 rt 72 ~


 repeat 4 [fd :a rt 72] ~


 fd :a / 2 lt 90 ~


 1999_05_07_1c :db - 1 :a - 5]


vége





1999. 03. 29. B csoport





2. feladat


tanuld n2 :a :sz


 repeat 4 [fd :a rt :sz]


vége





tanuld n2k :n :sz :a


 if :n > 0 [n2 :a :sz n2k :n - 1 :sz :a / 2]


vége





4. feladat


tanuld koriv :a :sz


 repeat :sz [fd :a rt 1]


vége





tanuld c


 repeat 12 [repeat 30 [fd 1 rt 1] lt 90 fd 10 bk 10 rt 90]


vége





tanuld d


 repeat 12 [repeat 30 [fd 1 rt 1] lt 90 fd 10 bk 10 rt 90]


 rt 90 pu fd 20 pd tölt bk 20 lt 90


vége





tanuld bb


 koriv 1 360 rt 90 pu fd 20 pd tölt pu bk 20 pd lt 90


vége





�1999. 03. 29. C csoport





4. feladat


tanuld elso :n


 repeat :n [koriv ,6 180 lt 180 - ( 360 / :n )]


vége





5. feladat


tanuld hatsz :a


 ismétlés 6 [előre :a jobbra 60]


vége





tanuld sor_sejt :n :a


 ha :n > 0 [hatsz :a pu rt 90 fd :a * sqrt 3 lt 90 pd ~


 sor_sejt :n - 1 :a pu lt 90 fd :a * sqrt 3 rt 90 pd]


vége





tanuld f2a :n :a


 if :n < 10 [sor_sejt :n :a pu bk 1,5 * :a lt 90 fd ( :a / 2 ) * ( sqrt 3 ) rt 90 pd ~


 f2a :n + 1 :a pu rt 90 fd ( :a / 2 ) * ( sqrt 3 )


 lt 90 fd 1,5 * :a pd]


vége





tanuld f2b :n :a


 f2b1 :n :a


 pu bk 11 * :a rt 90 fd :n * :a * sqrt 3 rt 90 pd


 f2b2 :n :a


 pu bk 11 * :a rt 90 fd :n * :a * sqrt 3 rt 90 pd


vége





tanuld f2b1 :n :a


 if :n < 10 [sor_sejt :n :a pu bk 1,5 * :a lt 90 fd ( :a / 2 ) * ( sqrt 3 ) rt 90 pd ~


 f2b1 :n + 1 :a pu rt 90 fd ( :a / 2 ) * ( sqrt 3 )


 lt 90 fd 1,5 * :a pd]


vége





tanuld f2b2 :n :a


 if :n < 9 [sor_sejt :n :a pu bk 1,5 * :a lt 90


 fd ( :a / 2 ) * ( sqrt 3 ) rt 90 pd ~


 f2b2 :n + 1 :a pu rt 90 fd ( :a / 2 ) * ( sqrt 3 )


 lt 90 fd 1,5 * :a pd]


vége





tanuld f2d :n :a :m


 ha :m > 0 [sor_sejt :n :a ~


 pu fd :a * 1,5 rt 90 fd :a / 2 * sqrt 3 lt 90 pd ~


 f2d :n :a :m - 1]


vége


�tanuld f2e :n :a


 repeat 5 [sor_sejt :n :a ~


 pu rt 90 fd :a / 2 * sqrt 3 lt 90 fd 1,5 * :a pd ~


 sor_sejt :n :a ~


 pu lt 90 fd :a / 2 * sqrt 3 rt 90 fd 1,5 * :a pd]


 pu bk 15 * :a pd


vége





1998. 04. 07. A csoport





4. feladat


tanuld bteg :a


 fd :a rt 90 fd :a lt 90 fd :a rt 90 fd :a rt 90 fd :a lt 90


 fd :a lt 90 fd :a rt 90 fd :a rt 90 fd 2 * :a rt 90


 fd 4 * :a rt 90


vége





tanuld bsor :n :a


 if :n > 0 [bteg :a rt 90 fd 4 * :a lt 90 bsor :n - 1 :a]


vége





tanuld bfal :m :n :a


 ha :m > 0 [bsor :n :a fd 3 * :a rt 180 bsor :n :a rt 180 ~


 bfal :m - 1 :n :a bk 3 * :a]


vége





4. feladat


tanuld csf1a :a


 repeat 5 [fd :a rt 144]


vége





tanuld csf1b :a


 repeat 5 [fd :a lt 72 fd :a rt 144]


vége





tanuld csf1c :a


 repeat 7 [fd :a rt 180 - ( 180 / 7 )]


vége





tanuld csf1d :a


 repeat 7 [fd :a lt 90 * 8 / 7 fd :a rt 180 * 6 / 7]


vége





tanuld csf1e :a


 repeat 9 [fd :a rt 180 * 8 / 9]


vége





tanuld csf1f :a


 repeat 9 [fd :a lt 180 - ( 360 / 9 + 180 / 9 ) fd :a~


 rt 180 * 8 / 9]


vége


�tanuld csf1g :a


 repeat 11 [fd :a rt 180 * 10 / 11]


vége





tanuld csf1h :a


 repeat 11 [fd :a rt 180 - ( 360 / 11 + 180 / 11 )


 fd :a rt 180 * 10 / 11]


vége





2000. 04. 10. A csoport





1a feladat


tanuld dereka :a


 repeat 8 [harsz :a rt 45]


vége





tanuld derekc :a


 repeat 8 [lt 135 harsz :a rt 180 fd :a / 2]


vége





tanuld dereke :a


 repeat 8 [harsz :a fd :a * ( ( sqrt 2 ) - 1 ) rt 45]


vége





2a feladat


tanuld alapelem :a


 fd :a / 2 rt 90 fd :a / 4 lt 90 fd :a / 4 lt 90 fd :a / 4


 rt 90 fd :a / 4


 rt 90


 fd :a / 2 lt 90 fd :a / 4 rt 90 fd :a / 4 rt 90 fd :a / 4


 lt 90 fd :a / 4


 rt 90 fd :a / 4 lt 90 fd :a / 4 rt 90 fd :a / 4 rt 90


 fd :a / 4 lt 90 fd :a / 2 rt 90


 fd :a / 4 rt 90 fd :a / 4 lt 90 fd :a / 4 lt 90 fd :a / 4


 rt 90 fd :a / 2 rt 90


vége





tanuld sor_puzzle :a :n


 repeat :n [alapelem :a rt 90 pu fd :a pd lt 90]


vége





tanuld moz_puzzle :a :n


 sor_puzzle :a :n


 pu fd :a lt 90 pd bk :a / 4


 sor_puzzlef :a :n


 pu rt 90 fd :a lt 90 pd fd :a / 4 rt 90


 sor_puzzle :a :n


 pu bk :a * 2 lt 90 fd :a * :n rt 90 pd


vége





�3a. feladat


tanuld cikk :sz :s


 fd :s lt 90


 repeat :sz [fd ( :s * 3,14 ) / 180 lt 1]


 lt 90 fd :s lt 180 - :sz


vége





tanuld cikkek :db :sz :s :x


 if :db > 0 [cikk :sz :s lt :sz cikkek :db - 1 :sz ( :s + :x ) :x~  rt :sz]


vége





1999. 03. 29





5. feladat


tanuld fal :m :n :a


 repeat :m [fd 3 * :a bk 3 * :a sor_fal :n :a fd 3 * :a lt 90


 fd 2 * :a lt 90 ~


 sor_fal :n - 1 :a rt 90 fd 2 * :a rt 90]


 bk :m * 3 * :a


vége





2000. 03. 13. B csoport





1.b feladat


tanuld paral :mag :sz :szög :szín


 tollszín! :szín


 repeat 2 [fd :mag rt :szög fd :sz rt ( 180 - :szög )]


 tollszín! 0


vége





tanuld fél_kocka :mag :sz :m :szín


 paral :mag :sz 90 :szín


 pu fd :mag lt 180 pd


 paral :mag :m 45 :szín


 pu fd :mag lt 90 pd


 paral :sz :m 135 :szín


 pu fd :sz lt 90 fd :mag rt 45 bk :m rt 135 pd


vége





tanuld kocka :a


 fél_kocka :a :a :a / 2 12


 fél_kocka :a :a :a / 2 0


vége





tanuld tégla :mag :sz :m


 fél_kocka :mag :sz :m 12


 fél_kocka :mag :sz :m 0


vége





�2.b feladat


tanuld h1 :a


 repeat 3 [fd :a rt 120]


vége





tanuld masni :a


 rt 60


 repeat 2 [h1 :a rt 180]


 lt 60


vége





tanuld hatszög :m :a


 ismétlés 6 [előre :a jobbra 30 masni :m jobbra 30]


vége





tanuld dmasni :m :a


 előre :a jobbra 30 masni :m jobbra 30


 előre :a balra 30 masni :m balra 30


vége





tanuld masnisor :n :m :a


 repeat :n [dmasni :m :a]


 pu bk :n * 1,5 * :a lt 90 fd 1,5 * :a * sqrt 3 rt 90 pd


vége





3.b feladat


tanuld cikk :sz :s


 fd :s lt 90


 repeat :sz [fd ( :s * 3,14 ) / 180 lt 1]


 lt 90 fd :s lt 180 - :sz


vége





tanuld cikkek2 :db :sz :s :x


 if :db > 0 [cikk :sz :s cikkek2 :db - 1 :sz + :x :s - :x :x]


vége





2000. 05. 19. U csoport





1u. feladat


tanuld frakt :a


 frakt1 :a rt -30


 frakt1 :a bk 3 * :a rt 30


 frakt1 :a rt 30


 frakt1 :a bk 3 * :a rt -30


 frakt1 :a


vége


�
tanuld frakt1 :a


 fd :a rt -30 fd :a bk :a rt 30 fd :a rt 30 fd :a bk :a rt -30


 fd :a


vége





3.u feladat


tanuld rud1 :a


 repeat 2 [repeat 4 [fd :a lt 90 k :a 180 lt 90] fd :a rt 180]


vége





tanuld n :a


 repeat 4 [fd :a rt 90]


tanuld negyz :a :db


 ha :db > 0 [n :a fd :a / 2 rt 45 negyz :a / sqrt 2 :db - 1 lt 45 bk :a / 2]


vége





tanuld racs1 :a


 n 9 * :a


 repeat 4 [rt 90 fd :a * 1,8 lt 90 rud1 :a]


 lt 90 fd :a * 7,2 rt 90


vége





2000. 05. 19. X csoport





1.x  feladat


tanuld frakt2_1 :a


 fd 2 * :a


 lt 20 fd :a rt 20 fd :a rt 20 fd :a


 bk :a lt 20 bk :a lt 20 bk :a rt 20


 rt 45 fd :a lt 20 fd :a lt 20 fd :a


 bk :a rt 20 bk :a rt 20 bk :a lt 20


 lt 25


vége





tanuld frakt2_2 :a


 rt 90


 frakt2_1 :a / 2 frakt2_1 :a / 2


 lt 20 frakt2_1 :a / 2


 rt 20 frakt2_1 :a / 2


 rt 20 frakt2_1 :a / 2


 bk :a lt 20 bk :a lt 20 bk :a rt 20


 rt 45 frakt2_1 :a / 2


 lt 20 frakt2_1 :a / 2


 lt 20 frakt2_1 :a / 2


 bk :a rt 20 bk :a rt 20 bk :a lt 45


 bk :a * 2 lt 90


vége





�3.x csoport


tanuld rud2 :a


 repeat 2 [fd :a * 3 rt 90 fd :a bk :a lt 90 fd :a * 3 lt 90 k :a * 2 180 lt 90]


 fd :a * 3 rt 90 fd :a bk :a lt 90 fd :a * 3


vége





tanuld racs2 :a


 n 22 * :a


 fd 22 * :a rt 90 fd 2.6 * :a rt 90


 repeat 4 [rud2 :a lt 90 fd :a * 2,4 lt 90 rud2 :a rt 90 fd :a * 2,4 rt 90]


 pu fd :a * 22 rt 90 fd :a * 21,8 rt 90 pd


vége





2003. 04. 14.  S csoport





2. feladat


tanuld rombusz :h


 repeat 2 [repeat 2 [fd :h rt 60] rt 60]


vége





tanuld hat :g :h


 repeat 2 [fd :g rt 60 rombusz :h pu rt 30 fd :h * sqrt 3 rt 90 pd]


vége





tanuld pir_sor :n :g :h


 ha :n > 0 [hat :g :h pu rt 90 fd :h * sqrt 3 lt 90 pd ~


 pir_sor :n - 1 :g :h ~


 pu rt 90 bk :h * sqrt 3 lt 90 pd]


vége





tanuld pir_moz :n :g :h


 ha :n > 0 [pir_sor :n :g :h pu fd :g + ( :h / 2 ) rt 90 fd :h * ( sqrt 3 ) / 2 lt 90 pd ~


 pir_moz :n - 1 :g :h ~


 pu lt 90 fd :h * ( sqrt 3 ) / 2 rt 90 bk :g + ( :h / 2 ) pd]


vége








tanuld n :a


 repeat 4 [fd :a rt 90]


tanuld negyz :a :db


 ha :db > 0 [n :a fd :a / 2 rt 45 negyz :a / sqrt 2 :db - 1 lt 45 bk :a / 2]


vége





tanuld piram_sor :a :n


 if :n > 0 [n :a pu rt 90 fd :a lt 90 pd piram_sor :a :n - 1 pu lt 90 fd :a rt 90 pd]


vége





tanuld piram_moz :a :n


 if :n > 0 [piram_sor :a :n - 1 pu fd :a rt 90 fd :a / 2 lt 90 pd ~


 piram_moz :a :n - 1 pu lt 90 fd :a / 2 rt 90 bk :a pd]


vége





5. feladat


tanuld steg :a


 repeat 2 [fd :a rt 90 fd :a lt 90 fd :a rt 90 fd 2 * :a rt 90]


vége





tanuld ssor :n :a


 ha :n > 0 [steg :a rt 90 fd 2 * :a lt 90 ssor :n - 1 :a]


vége





tanuld sfal :m :n :a


 if :m > 0 [ssor :n :a rt 90 fd :a lt 90 fd :a ~


 bk :a lt 90 fd ( 1 + :n * 2 ) * :a rt 90 fd 2 * :a ~


 sfal :m - 1 :n :a rt 90 fd :a bk :a lt 90 bk 2 * :a]


vége








tanuld hatsz :a


 ismétlés 6 [előre :a jobbra 60]


vége





tanuld sor :a :n


 ha :n > 0 [balra 30 hatsz :a jobbra 30 ~


 jobbra 90 tollatfel előre :a balra 90 tollatle ~


 sor :a :n - 1 ~


 jobbra 90 tollatfel hátra :a balra 90 tollatle]


vége




















tanuld k :s :sz


 repeat :sz [fd :s * 3,14 / 360 rt 1]


vége








tanuld masodik :n


 repeat :n [koriv ,6 180 rt 180 - ( 360 / :n )]


vége








tanuld harsz :a


 fd :a * sqrt 2 lt 135 fd :a lt 90 fd :a lt 135


vége


























tanuld teg_fal :a


 fd :a rt 90 fd :a lt 90 fd :a rt 90 fd 2 * :a rt 90 fd :a lt 90 fd :a rt 90 fd :a rt 90 fd 4 * :a rt 90


vége





tanuld sor_fal :n :a


 repeat :n [teg_fal :a pu rt 90 fd 4 * :a lt 90 pd]


vége





tanuld sor_puzzlef :a :n


 repeat :n [alapelem :a pu fd :a pd]


vége











tanuld sp :n :a


 ha :n > 0 [fd :a / 2 rt 90 fd :a + 5 rt 90 fd :a + 2 * 5 rt 90 fd :a + 3 * 5 ~


 rt 90 fd ( :a + 4 *
